
SAP ABAP table RECP_OCCUPANCY_C {Occupancy}

RECP_OCCUPANCY_C

MANDT [CLNT (3)]

VACREASON [CHAR (4)]

BUKRS [CHAR (4)]

USAGETYPE [NUMC (4)]

TERMNOVAC [CHAR (4)]

OCCCNBUKRS [CHAR (4)]

RESCNBUKRS [CHAR (4)]

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 RECP_OCCUPANCY_C-BUKRS = T001-BUKRS 

0..N1  RECP_OCCUPANCY_C-OCCCNBUKRS = T001-BUKRS 
0..N

{0,1}  RECP_OCCUPANCY_C-RESCNBUKRS = T001-BUKRS 0..N

{0,1} TIV01

MANDT [CLNT (3)]

SNUNR [NUMC (4)]

 RECP_OCCUPANCY_C-USAGETYPE = TIV01-SNUNR 

0..N
1

TIVBDVACREAS

MANDT [CLNT (3)]

VACREASON [CHAR (4)]

 RECP_OCCUPANCY_C-VACREASON = TIVBDVACREAS-VACREASON 

0..N

1

VITMTERM

MANDT [CLNT (3)]

INTRENO [CHAR (13)]

TERMTYPE [CHAR (4)]

TERMNO [CHAR (4)]

 RECP_OCCUPANCY_C-TERMNOVAC = VITMTERM-INTRENO 

0..N

{0,1}


